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Practice 7-5
1.127 2.-88 3.9 4.3 S.nosolution 6.25 7.9
—14 9.1 10.27 1142 12.9 13.7 142 15.4
16.29-25 17.10 18.16 19.4 20.13 21.4
22.-27,27 23.64 24.0,~1 25.n0 solution_26.64
27.23 28.0 29.n0 solution 302 31.1 32.—123
338 34.12 35.1 36.16 37.5 38.-62 39.2
401 41.2 42.66

Practice 7-6
1a. () = 185 1b.g(x) = 075x 1c.8(150)) = 20250
4d. No it docsn’t matter whether you irs maltply by 075
orby 18, 2.2% + 4x + 2:all real numbers.

=2+ 4 ~ 4;all real numbers
4.8 — 2% + 12x ~ 3;all real numbers

ax

hz+].:llmlnumbnx 6.2 — dx + 4all real
nombers 7. 253l real mumbers except} 8. ~4
9.-2 10.7 11. os2 24+ 7

1320 -3 -7 2 1518 16 w6 17,
=it 97
1873522 9.1 2037 - 13

2130 + 27 — 15x — 10 22,22 + 3x + 12
23a.f(x) = 075x 23b.glx) =x — 5

23 g(f(50)) = $32.50 23d. Yes; multplying by 075 and
then subiracting by S s different than sublracting by 5 and

then multplying by 0.75.





